C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Y (%R +13)- (VR +15) L
2.
P (S -14)- (Vv +e) .
.
? (%0-5)- (Y- 13) :
6.
Y (Faw+2)+ (Yew +12) .
8.
¥ (U -3)+ (Topy +20) 0
10.
6)

(75E-17) - (V4E + 10)

D Ve-2)-(YeB-4)

) ( '5/10D +13)-( 36/40D -10)

) '(8/106'5)-(3/1OG+12)

O (Yc-12)-(Fc-4)
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ﬂh Rewriting Expressions

Name:. Answer Key

Rewrite each expression in itssimplest form.
1 10 3
) (" /5oR+13)- (/4R +15)

10 15
/20R+13-"/50R- 15

2 (Yv-1ay- (Vv +8)
YN -14-7N -8

Y (%0-5)- (7Q- 13)
5/9Q—5—3/9Q+13

K -(3/5W+2)+(475W+12)
-3/5W-2+475W+12

¥ (U -3)+ (Topy +20)
2V +3+ Y + 20

¥ (YE-17)- (e +10)
B+ 17- VE - 10

" Ve-2)- (- 4)
—5/15B+2—1O/l5B+4

K -( '5/10D+13)-(36/40D'10)
YD - 13- °/,D + 10

) -(8/106'5)-(3/1OG+12)
10G+5-/1sG- 12

10)

(7:C-12)- (TpC-4)

9 12
/»C-12-"7/5,C+4

Answers
5
1. '/ZOR'2
1
N AVEY.
2
3 oQ+8
1
4. sW+10
6
s, /oY1
15
6 - /1sE+T
15
7 - /,5B+6
16
8 - 40D'3
11
9. - /1OG'7
3
10 - 21(:'8
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